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Exercices 1B.1

Calculer les intégrales suivantes en respectant les étapes (on demande les valeurs exactes).

	I = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()2;\s\up20( )\s\up10()))e2x dx
	J = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()1;\s\up20( )\s\up10())) 2x3 + 5x dx
	K = EQ \s\do10(\i\in(\d\ba2()1;\d\fo1()2;\s\up20( )\s\up10()))EQ \s\do1(\f(ln x;x)) dx

	
	
	


Exercices 1B.2

Calculer les intégrales suivantes en respectant les étapes (on demande les valeurs exactes).

	I = EQ \s\do10(\i\in(\d\ba2()1;\d\fo1()e;\s\up20( )\s\up10()))EQ \s\do1(\f(dx;x))
	J = EQ \s\do10(\i\in(\d\ba2()-1;\d\fo1()1;\s\up20( )\s\up10()))e-x dx
	K = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()1;\s\up20( )\s\up10()))EQ \s\do1(\f(x;x² + 1)) dx

	
	
	


Exercices 1B.3

Calculer les intégrales suivantes en respectant les étapes (on demande les valeurs exactes).

	I = EQ \s\do10(\i\in(\d\ba2()-1;\d\fo1()1;\s\up20( )\s\up10()))EQ \s\do1(\f(1;(3x + 2)4)) dx
	J = EQ \s\do10(\i\in(\d\ba2()0;\d\fo1()2;\s\up20( )\s\up10()))r(x + 1)EQ \s\do1(\f(1;))
 dx
	K = s\do1(\f((;3))EQ \s\do10(\i\in(\d\ba2()0;\d\fo3();\s\up25( )\s\up10()))

EQ \s\do1(\f(sin x;cos3x))
 dx

	
	
	
























































































































































































































































